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Algebra 1 Name___________________________________
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Practice Test:  Solving systems by graphing, substitution, and elimination

Solve each system by graphing.
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Solve each system by substitution.
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Solve each system by elimination.

7)  

   

x + 

  

y = −10

 

10

  

x − 

  

y = −1

8)  

 

4

  

x − 4

  

y = −4

 

12

  

x − 12

  

y = −12

9)  

 

4

  

x − 5

  

y = 9

 

5

  

x − 6

  

y = 9

10)  

 

5

  

x − 7

  

y = 19

 

−4

  

x + 5

  

y = −17

-2-



©x h2d0R1q4f DKwuEtDa2 0SIo6fUtUwwalrNeE dLvLyCm.f F jAUlllz 8rbingnhhthst xrCe2sjeVrzvueWdw.j C 0MzaZdlen 3wkiitUhd eIanRfzianjiktBeg OAsl3gLeEb4rLat i1T.A Worksheet by Kuta Software LLC-3-

Answers to Practice Test:  Solving systems by graphing, substitution, and elimination

1)  (−2, −3) 2)  (3, −1) 3)  (0, −3) 4)  (5, −2)
5)  No solution 6)  (2, 2) 7)  (−1, −9) 8)  No solution

9)  (−9, −9) 10)  (8, 3)


